10. Fill in the blanks in the proof of the following theorem.
THEOREM: AC B iff AU B=B.
Proof: Suppose that A € B. If x e 4 U B, then x € 4 or

X € . Since 4 € B, in either case we have x € B. Thus
AUR < B . On the other hand, ifx e B ,
thenxe AUB,s0 R c AU® . Hence AUB=B.

Conversely, suppose that 4 U B = B. If x € A4, then x €

AuR . But4UB=B,soxe__ B . Thus _\
B e

c

11. Fill in the blanks in the proof of the following theorem.
THEOREM: ACB iff AnB=A.
Proof: Suppose that 4 € B. If x € A N B, then clearly x € 4. Thus

A N B C A. On the other {2 xeA Hau cjuce A€ ‘B)
% €% awd : I\» xephn® .
Thus A € A N B, and we conclude that AN B = A.

Conversely, suppose that 4 m B=A. Ifx € 4,then S \\ e

A=An® xeha®. Bur AMaReR = ¥xe®

ThusACB .




